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void *work(void *data)
{
        write(*(int *) data, "a", 1);
        return NULL;
}

int main(void)
{
        int i, fd = open("hello.txt", O_RDWR);
        pthread_t tids[NTHREADS];
        for (i = 0; i < NTHREADS; ++i) {
                pthread_t tid;
                pthread_create(&tid, NULL, work, &fd);
                pthread_detach(tid);
        }
}
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pid_t pid;    sigset_t mysigs, prev;
sigemptyset(&mysigs);
sigaddset(&mysigs, SIGCHLD);
sigaddset(&mysigs, SIGINT);
// need to block signals. what to use?
// A. sigprocmask(SIG_BLOCK, &mysigs, &prev);
// B. sigprocmask(SIG_SETMASK, &mysigs, &prev);

if ((pid = fork()) == 0) {
    // need to unblock signals. what to use?
    /* A. sigprocmask(SIG_BLOCK, &mysigs, &prev);
     * B. sigprocmask(SIG_UNBLOCK, &mysigs, &prev);
     * C. sigprocmask(SIG_SETMASK, &prev, NULL);
     * D. sigprocmask(SIG_BLOCK, &prev, NULL);
     * E. sigprocmask(SIG_SETMASK, &mysigs, &prev);
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int main(int argc, char** argv) {
  signal(SIGUSR1, handler);
  signal(SIGUSR2, handler);
  int parent = getpid();
  int child = fork();
  if (child == 0) {
    fun(parent);
    exit(0);
  }
  sleep(1);
  waitpid(child, NULL, 0);
  printf("Received %d USR{1,2} signals\n", counter);
}

int counter = 0;
void handler(int sig) {
  counter++;
}

void fun(pid_t parent) {
  /* insert code here */
}
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const char *msg = "hello there";
pid_t cpid;
int fd = open("hello.txt", O_RDWR);
char contents[12];
ssize_t nbytes;
if ((cpid = fork()) == 0) {
        write(fd, msg, strlen(msg));
        close(fd);
        exit(0);
}
waitpid(cpid, NULL, 0);
nbytes = read(fd, contents, strlen(msg));
contents[nbytes] = '\0';
close(fd);
printf("%s\n", contents);
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VPN PPN Valid VPN PPN Valid

00 17 1 10 26 0

01 28 1 11 17 0

02 14 1 12 0E 1

03 0B 0 13 10 1

04 26 0 14 13 1

05 13 0 15 18 1

06 0F 1 16 31 1

07 10 1 17 12 0

08 1C 0 18 23 1

09 25 1 19 04 0

0A 31 0 1A 0C 1

0B 16 1 1B 2B 0

0C 01 0 1C 1E 0

0D 15 0 1D 3E 1

0E 0C 0 1E 27 1

0F 2B 1 1F 15 1

Index Tag PPN Valid

0 05 13 1

3F 15 1

1 10 0F 0

05 18 1

2 1F 01 1

11 1F 0

3 03 2B 1

1D 23 0
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//foo.txt = “abcdefg”

fd1 = open(“foo.txt”, O_RDONLY);
pid = fork();
fd2 = open(“foo.txt”, O_RDONLY);

if (pid==0) {
read(fd1, &c, sizeof(c));
printf(“%c”, c);
dup2(fd1, fd2);
//NOTE: the child did not exit here!

}
wait(NULL);
read(fd2, &c, sizeof(c));
printf(“%c”, c);
read(fd1, &c, sizeof(c));
printf(“%c”, c);
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//foo.txt = “abcdefg”

fd1 = open(“foo.txt”, O_RDONLY);
pid = fork();
fd2 = open(“foo.txt”, O_RDONLY);

if (pid==0) {
read(fd1, &c, sizeof(c));
printf(%c”, c);
dup2(fd1, fd2);
//NOTE: the child did not exit here!

}
wait(NULL);
read(fd2, &c, sizeof(c));
printf(“%c”, c);
read(fd1, &c, sizeof(c));
printf(“%c”, c);
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